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Question Number : 1 Question Id : 7935233101 Display Question Number : Yes Is Question
Mandatory : No

The performance of cache memory 1s frequently measured in terms of quantity called

$21 e gy HASH O 90PEI0 BOTP ST Tenaddd

Options :

1. Register

PR NEN VAN

2. Associative Mapping
@020 DI§0N

4. Set-associative Mapping

-9 FDNEID SrgnON

4. %

Question Number : 2 Question Id : 7935233102 Display Question Number : Yes Is Question
Mandatory : No



Which of the following describes the characteristics of SRAM?
806 e3¢5 SRAM &), & £770e) DdIOD0E?

Options:

1. Based on combination of transistor and capacitor

1€5°0)R 0 DO T Froms esdorr

1. %

2. Less consumption of power

8807263 DNEB DQOITHO

3. More clear and more consumption of power

30806 HINTS 0BG F8 DATZrHK0

3.¥

4. Cheap but slow
FE 520 [0 O™

Question Number : 3 Question Id : 7935233103 Display Question Number : Yes Is Question
Mandatory : No

One of the class of storage device that can access storage locations i any order 1s
2 1£008 T Vs Tarerd 05530 Babie SF5e 56580 a8,
3Me 2,863

Options :

i, DTE
1. %

2. PDBP
2. %



3. DDE

4. DASD

Question Number : 4 Question Id : 7935233104 Display Question Number : Yes Is Question
Mandatory : No

The Excess-3 representation of (0100) BCD 1s
(0100) BCD G308 @933 -3 [ar°ed0 50

Options :

SR e
1. %

2. 1110
2. %

3. 'DEL]
3. %

4. 1100
4. %

Question Number : 5 Question Id : 7935233105 Display Question Number : Yes Is Question
Mandatory : No

The mmimum time delay between the initiation of two ndependent memory operation 1s
called

B0 21650( 00 20 (PB0ErRE S5 SR HAH BRSO
EIoTAKON

Options:

1. ®



1. Access time

OI3” B )R DoANO

2. Cycle time

2080 JHaAvo

2. &

3. Rotational time

236069 QeDONO

3. %

4. Latency time

S DDAHO

Question Number : 6 Question Id : 7935233106 Display Question Number : Yes Is Question
Mandatory : No

Which of the following extensions suggest that the file 1s a backup copy?
800 a3 Q) G0 RO 258D 58 897 ArDNOE?

Options :

1. Bak
1.4

2. Bas

3. Com

4 Txt



Question Number : 7 Question Id : 7935233107 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s not available on the Ruler of MS Word screen?
MS Word (2@ 57065 808 ¢3S D& e0ereneS Si?
Options :

1. Tab stop box

e er$eS > 23°5)
2. Left Indent
. D83 QOTOE
3. Right Indent
& Q0TOS
3. %
4. Center Indent
OED ROTOEL
4.

Question Number : 8 Question Id : 7935233108 Display Question Number : Yes Is Question

Mandatory : No

Which of the following windows version support 64 bit processor?

800 >3¢5 64 D [FV0K s0Deh) BT oG IS DE?

Options:

1. Windows 98
DNOE 98



2. Windows 2000
DOED 2000

3. Windows XP

DOER XP
3.

4. Windows 95
Do 95

4. %

Question Number : 9 Question Id : 7935233109 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s NOT a valid deadlock prevention scheme?

806 e3¢5 DO TEeTeD @GNS BEETS Aarded HHE0 N7

Options:

1. Release all resources before requesting a new resource

565 S0 @25500T SN0 ©R) IO S TADOG

1. %

2. Number the resources uniquely and never request a lower numbered resource
than the last one requested.

RO |DBEE0T B8) 00 SOOI €580y DOPS SR
3838009 QBT 9255000 TS0 e ) 925500

2. %

3. Never request a resource after releasing any resource

BT 55580 DA TS ST S0 D @500

3.¢



4. Request and all required resources be allocated before execution.
9255300 s0O05) 6N WONERE SN0 BT @A)
HeIEEN TETFONOIVETON.

Question Number : 10 Question Id : 7935233110 Display Question Number : Yes Is Question
Mandatory : No

consider the 3 processes, P1, P2 and P3 shown m the table.

HESES T P1, P2 500080 P3 @93 3 (5150006 syifedotiods

Process  Armival time Time unit required
80D 3iade) oD ©92300s03; e ORTVE
Pl 0 5
P2 1 7
P3 3 4

The completion order of the 3 processes under the policies FCFS and RRS (round robm
scheduling with CPU quantum of 2 time units) are

FCFS aB050) RRS 0irare 800 3 (8050 o0 1800 (CPU S 5080 2
J09D rEOS Tok 08D glda?gﬁ)

Options :

1. BCESPL. P2 P3 RR2: P1. P2, PS5

2 BECEN: TIP3 P2 RR2: P1 P53 P2

2 v S PCEN-PL P2 PaRRI: P1 P P2

. 4. BCPS: Bl P3 P2RR2=P1 P2l P3

Question Number : 11 Question Id : 7935233111 Display Question Number : Yes Is Question



Mandatory : No

The  on the Start menu offers an alternate method to start applications or open data

files.

FOITSR_ @FIR00 [@rE0DotENE S By OO0
BENTOE [(DELT,0D DB ©OANOR.

Options :

1. Run command

BSTFV) 290D TWONOE

1.4

2. Find command

STV SNDFTI0R%

2. %

3. Settings command

RBoHe esTFo

4. All programs
@) 570§ 8007en

Question Number : 12 Question Id : 7935233112 Display Question Number : Yes Is Question
Mandatory : No

Hounding errors can occur

ST0B0N Saren D) H0LSNOTINTNY?

Options :

1. When you use multiplication, division or exponentiation i a formula

S 2.8 TS HSTE0, DS B re0so
T OWRAOTARN &Y

1.¢



2. When you use addition and subtraction in a formula

% 2,8 5020576 eS0T KBAN BRIe5D
503" A0 6 IC

2. %

3. Because Excel uses hidden decimal places m computation

OIS0 5O KNS TN KT0F T GNOTAD0E

4. When you show the results of formulas with different decimal places' than the
calculated results

D B8, 008 9Oz L0t 3055 $7°08 Prod ard)er
DOTO TFHOWNIR))

4., ®

Question Number : 13 Question Id : 7935233113 Display Question Number : Yes Is Question
Mandatory : No

What 1s gutter margin?

(80 QS 90T DE3?

Options :

1. Margin that 15 added to right margin when printing

(2065 TRE I $06 SrQSE B BOIDED S0

2. Margin that 1s added to the left margin when printing

1206 TREIN I C5D D SE SOV DS

3. Margin that 1s added to the outside of the page when printing
SOOI I 2028 FeDe BBOIDBS Sr0S



4. Margin that 15 added to the binding side of page when printing
208 Dby D2 Tg), Bodoh VB SGoAE srdd

Question Number : 14 Question Id : 7935233114 Display Question Number : Yes Is Question
Mandatory : No

What 1s smallest and largest available font on formatting toolbar?

o300 rderde) 0Berens i) BN O B E
O @0T) Jaded?

Options :

1. Smallest 8 and Largest 70

293D 8 SO 93D 70
1. %
2. Smallest 5 and Largest 72
€963 D) 5 OO @9ed3 D 72
2. %
3. Smallest 8 and Largest 72
29631 8 SNOAN 93D 72
3.¢
4. Smallest 5 and Largest 70
€9e3 D) 5 OO 932X 70
4, %

Question Number : 15 Question Id : 7935233115 Display Question Number : Yes Is Question
Mandatory : No



Which button on the Mailings tab 15 used to correlate fields from a data source to fields m
a mam document that have different field names?

DoO0R PSR @ 26 3er F5) 0k OO DD, DO DD
$OR &) 10T 0GR HOOK HiFH00O0TRE
GOSN CERNOE?

Options :

1. Fimnd Recipient
15a7e5Q) E0fFedd

!R.J'

Match Fields
33751 DOV

2. &

3. Compare Fields
DO HONF YOG

4. Auto Check for Errors
Sarer €50 eses’ 58

Question Number : 16 Question Id : 7935233116 Display Question Number : Yes Is Question
Mandatory : No

- What term describes a background that appears as a grainy, non-smooth surface?

AR, YR GBBO0 IS ENOT IRV @ A0 ASBDOA?
Options :

1. Pattem
DedIT°D°

2. ¥



2. Gradient

lododEDEDd
3. Texture
. esged
4. Velvet
DD
4. %

Question Number : 17 Question Id : 7935233117 Display Question Number : Yes Is Question

Mandatory : No

You can merge the mam document with data source in Excel. In mail merge operation,
Word 15 usually

D JT)S 5 Ber F5)S 9T TEE0SS DOS0 TSy
DOV A0S B8ITASE, 50 TG0 Der GOeN0E?

Options:
1. Server
ot
AR NleJ{e
2. Source
s
L% o0
3. Client
Lo Sowoéd

4. None of the above
B DDES



Question Number : 18 Question Id : 7935233118 Display Question Number : Yes Is Question
Mandatory : No

Macros are:

3578% 0 @9 DIN:

Options :

1. Small programs created in MS-Word to automate repetitive tasks by using
VBA
VBA Q) G000 2)e00799 560035 a0 €656
SANETRE MS- 506 yR0t5236S D) 1S reen

1.
2. Small add-on programs that are mstalled afterwards 1f you need them
8 B3NGB 07565 ATO WD D) OG-S
e ST

3. Programming language that you can use to customize MS-Word
MS-Word & @H3rO005FA8 % SHTINOT [SFTadoh
0N 525

3. %

4. Large tools in Word such as mail merge

3565’ ANO NS0 503 DD e

Question Number : 19 Question Id : 7935233119 Display Question Number : Yes Is Question
Mandatory : No

VLOOKUP Function Used to?
VLOOKUP H0OE. & D030 0030 G05?

Options :
1.



1. Finds Related Records
502205 B3NN EFonod

2. Looks Up Text That Contain "v"
v €A &) HITRV) IO

Check If Two Cells Are Identical
B SeTen 2,8er Gar) B BE Y TONEE

L)

4. None Of Above
DD

Question Number : 20 Question Id : 7935233120 Display Question Number : Yes Is Question
Mandatory : No

Which of the followmg formulas will Excel Not be able to calculate?
806 ¢3S &) FPENET & B B8 0 SENH0E?
Options :

1. =SUM(Sales)-A3
1.4

. 2. =SUM(AL:A5)*5
2.

3. =SUM(AI1:A5)/(10-10)

4. =SUM(A1:A5)-10
4. %



Question Number : 21 Question Id : 7935233121 Display Question Number : Yes Is Question
Mandatory : No

When all the numbers between 0 and 100 1n a range should be displayed m Red Color,
apply

28 HBOS 0 BN 100 D5 &3y ©) Soen 96 oS
100070t )0, DN &) DASFE)?

Options:

|. Use =1f() function to format the required numbers red

O3NERDN D0DIOD %Y S0 romE THERS = if ()
L 908 G0t

2. Apply Conditional Formatting command on Format menu

T DTS AEHOS ErdeS 2P0 E300 8TTR) 0008

2. ¢

3. Select the cells that contamn number between 0 and 100 then click Red color on
Text Color tool

0 OO 100 0ES OV O ) SETOD DOLHRO), TS,
00 N0 DY) Gothed 8§ Tahod

4. All of above
DDA

Question Number : 22 Question Id : 7935233122 Display Question Number : Yes Is Question
Mandatory : No



What 1s the output of the following program?

8OO [T TB30EY ©s9E3HE] e3?

#include <stdio.h>
mnt main()

J
L

chara=012:
printf("%d", a):
return O

h

Options :

1. 12

4. Compilation error

Question Number : 23 Question Id : 7935233123 Display Question Number : Yes Is Question
Mandatory : No

An entire array 15 always passed by to a called function.
B0 (3B DOYET 50 DOHDE 208 D00,

Options :

1. Call by value
eSS IO 50



2. Call by reference

PR SUOV I (e D)

3. Address relocation

BT 5B 0)

4. Address restructure
DETTIT® o)D) T*2620

Question Number : 24 Question Id : 7935233124 Display Question Number : Yes Is Question
Mandatory : No

What will be the output of this program?
&3 | T A3NE) ©96) YL DT OLNOD?
main () { printf("Hello World"); main (): }

Options :
I.  Wrong statement
59 (25E
1. %

2. It will print Hello World once
R0 TS SEDD 2,870 D0ES TWOE

3. It will keep on printing Hello World
28 56 HED SWVIO0TIB0 FSTAD0E

3.¢

4. Program will throw error

T S o), DDBIS0E



Question Number : 25 Question Id : 7935233125 Display Question Number : Yes Is Question
Mandatory : No

What will be output of the this program?
&3 (1o T30E) @95YEED a)ee3?

main() { auto it a; printf("%d". a): }

Options:

L. i@
1. #
> % 2. Null

3. Compilation error. a 1s not mitialized

4. Output = some random number
4.

Question Number : 26 Question Id : 7935233126 Display Question Number : Yes Is Question
Mandatory : No
What 15 the base data type of a pomter variable by which the memory would be allocated to
1t?
08 SEronotnG aronotd SBchane Bng) B Ber 40 el
Options :

1. Int
Int



2. No datatype
BBEFTID SN

3. Depends upon the type of the variable to which 1t 1s pointing

298 0T BOANNO 57 283 0N

3. %

4. Unsigned int
DHOHE0 DAL int

4.+

Question Number : 27 Question Id : 7935233127 Display Question Number : Yes Is Question
Mandatory : No

If integer needs two bytes of storage, then maximum value of an unsigned mteger 1

JTOSRE T 28 A6 § @IS, 080 DOHA 2J*T050 TNE),
(10 aENa)

Options :

1. 2189
1.9

2.9
2. ®

3 216

Question Number : 28 Question Id : 7935233128 Display Question Number : Yes Is Question



Mandatory : No

Predict the output of following program.

808 (Mo AN}, €96YEdYED D 0HT® FONO.

#include«stdio.hy

int main()

f
L

struct site

{ .
char name[] = "Quz";
mtno of pages = 200;

1.
e

struct site *ptr;
printf("%d ", ptr->no_of pages);
printf("%s", ptr->name);
getchar():

refurn 0;

j

Options :

1. 200 Quiz

1. %

3. Runtime Error

4. Compiler Error
4.

Question Number : 29 Question Id : 7935233129 Display Question Number : Yes Is Question
Mandatory : No



union test
ArRoh 908
Il

L
mtx:

charari[4];
mty:

;

mt main()
{ |
union fest t;
tx=0
tanfl]='G"
printf("%s", t.arr):
refurn 0;

|

Predict the output of above program. Assume that the size of an mteger 1s 4 bytes and
size of character 15 1 byte. Also assume that there 15 no alignment needed.

2 8T 0IE) @)D 0T F000d. .8 SFT°080 HBTE0 4
236 000N @38 30780 1 28 ) &ar0I0R. BBAOE BING0
B0 7 ©08 0k,

Options :

1. Nothing 1s printed
1.4

2.4

3. Garbage character followed by ‘G’
3. %

4. Garbage character followed by ‘G’. followed by more garbage characters
4. %



Question Number : 30 Question Id : 7935233130 Display Question Number : Yes Is Question
Mandatory : No

What 1s the output of C program with conditional compilation commands?

A0S Erdied 08050 BTTOS € (BT Bng) ©9)SeT ded?

#define CVV 156

mnt mam()

/]
L

#fdef CVV
printf("CVV YES");

#else
printf("CVV NO");

#endif

return 0

j
Options :
1. 156

1. %

2. printi("CVV YES");

3. CVV YES

3.

4. CVV NO

Question Number : 31 Question Id : 7935233131 Display Question Number : Yes Is Question
Mandatory : No



. Predict the output of following program.

B0 | T ABNEY @)Y D @odr 0.

#include <stdio.h=>
#define MOBILE 0x01
#define LAPPY 0x02

mt main()

{
unsigned char 1tem=0x00;
item [F-MOBILE;
item [=LAPPY:
printf("T have purchased ...:");
if(item & MOBILE){

printf("Mobile, "):

;Lf(item & LAPPY){
printf("Lappy"):
h
return 1;
j
Options :

1. T have purchased ...
1. %

2. I have purchased ...:Mobile, Lappy
2. &

3. I have purchased ...:Mobile,
3. %

4. I have purchased ....Lappy
4. %



Question Number : 32 Question Id : 7935233132 Display Question Number : Yes Is Question
Mandatory : No

Choose a correct statement about C Function?

2 D0E.S HOOD DB WEI0E DoTHE 0

Options :

1. "mam" 1s the name of default must and should Function

"ONR" @DE GO A NG HoE S DK

2. Main () 1s same as int main ()
D7 () int (DG () D3 5OLDOE

3. By default, return 0 15 added as the last statement of a function without specific refurn type
BT, 865) 0936 A% 665) 380 B0 08 T DN
06T FGodacthsd

4. All the above
AN

4.+

Question Number : 33 Question Id : 7935233133 Display Question Number : Yes Is Question
Mandatory : No

- Which statement 15 suitable to check 3rd (count from 0) bit 15 high (set) or not?

38 (0008 T05) 265 802 () T DOHENE ) D0
©NITOOT

&0N0GR?

Options :
. (num & (1=<3))

1. %



2. (num & 0x08)
2.

3. (num & 0x03)
3. %

4. Both (1) and (2)
4,

Question Number : 34 Question Id : 7935233134 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s the correct expression that evaluates to true if the number x 1s
between 1 and 100 or the number 1s negative?

806 TS IO x @ 085 19800 100 083 BB B S0;
DESTOOT GOT) ) ABIAT S0 SD0E?

Options :

1. (x < 100) && (x > 1)) && (x < 0)
1. #

2. (x<100) && (x> 1)) || (x < 0)
2. ¢

3.(1>x>100) || (x<0)
3. %

4. 15x<100]|x<0
4, %

Question Number : 35 Question Id : 7935233135 Display Question Number : Yes Is Question
Mandatory : No



. What would be the output of the following code snippet if variable a=10?

A=10 30600200 &0 806 §& ) )8 TE) OIS Jer &0en0d?

if(a<=0)

f

| 1if(a==0)
{

System.out.prmtln("1 ");

1
J

else

{

System.out.println("2 ");

1
J

j

System.out prmtln("3 ");

Options :

I 12

1. %

)
)
I

Question Number : 36 Question Id : 7935233136 Display Question Number : Yes Is Question
Mandatory : No

Which of the following code segment would execute the stored procedure "getPassword()"
located in a database server?

& 800 §6 M0 S BEFDD O 55?5& 0 T "getPassword ()" TR
9,000 TVOH



Options :

1. CallableStatementcs = connection prepareCall(" {call. getPassword()}"); cs.executeQuery();
1%

2. CallabledStatement callable = conn.prepareCall(" {call getPassword()}"):

i} callable executeUpdate();
2.

3. CallableStatement cab = con.prepareCall(" {call getPassword()}"): cab.executeQuery();
3.¥

4, Callablestatementcstate = connect.prepareCall(" {call getpassward()}"); cstate.executeQuery();

4, %

Question Number : 37 Question Id : 7935233137 Display Question Number : Yes Is Question
Mandatory : No

Which two features of object-oriented programming are the same?
3%5-2,00D0DEG (SFTD0N T30y ) DO eI 2,86 &) ow?
Options :

1. Abstraction and Polymorphism
QDO|s3°€9 sDOAIN 22TVETIT 0

2. Inheritance and Encapsulation

G5 50 oDOAN D56 JSA

2.
3. Encapsulation and Polymorphism
. D555 TR OO TN Y230
3.



4. Encapsulation and Abstraction

DS56) T oA DOH153°€9

Question Number : 38 Question Id : 7935233138 Display Question Number : Yes Is Question
Mandatory : No

Which of the following definition best describes the concept of polymorphism?

800 T3S ) B £19:90 FORTO 180 2PN GO DBV
Options:

| Tt 15 the ability to process the many messages and data i one way

. OO ODEH0DFOND HON BT 2.8 AP0 [P DD P50

1.

2. Tt 15 the ability to process the undefined messages or data i at least one way

20 A R0 HOTTE B TEFD S0 2,8 DO [0 Tl
050

2. %

3. It 15 the ability to process the message or data in more than one form

30 H0T30 B BErd .88 §0% ) Erare (320 Fokie Ao

3.v

4. Tt 15 the ability to process the message or data i only one form

36 N0TH0 Ber BEFd 28 Erao 20 ToHiie rsndso

4, ®

Question Number : 39 Question Id : 7935233139 Display Question Number : Yes Is Question
Mandatory : No

An abstract class 1s useful when

2,8 SEFDS 5313 D) )CD Crod TR0

Options:



1. We do not derive any class from it

30630 TR DO o) BN PO

2. You want to defer the declaration of the class

2D S (I 0N AT 0ENT) K

3. There are multiple paths from one derived class to another

2.8 €565309) 3163 DO NTETVE 2TV IPTEN o™ OV

4. We do not want to instantiate its object

W Q) WY 88 £90 TATODE 30 B

4.+

Question Number : 40 Question Id : 7935233140 Display Question Number : Yes Is Question
Mandatory : No

In case of multiple mheritance, a derived class mherits

205708 PG50 DNANOES, €519 00 SEHB TERIS 0T eDOE

Options :

1. Only the public member functions of its base classes

L O B TR0 HAT o2 DN S

2. Data members and member functions of any two base classes

DT DO B Ta0e) TEF D2DHIEN aNBON ZD5E QD

3. Both public data members and member functions of all its base classes

E)5 Tex 925050 SO0 TR R B TRO 25O DEveN

3.¢



4. Data members and member functions of any two base classes

B DO 232 TR0 TEF DZDSEN sDBOM 2§ DEED
4, %

Question Number : 41 Question Id : 7935233141 Display Question Number : Yes Is Question
Mandatory : No

Which of the following causes run time binding?

80O ¢3S 38 B BoRoN s 8eareS0e3?

Options :

1. Declaring object of abstract class

JETDS 5S5ed ABNEY 9o (83050

1. %

2. Declaring pointer of abstract class

DB 5S5ed PON0EO 1083050

3. Declaring overridden methods as non-virtual

3,000BTBR DWERN DA YID T (83050

4. None of these
B e 5%
4, &

Question Number : 42 Question Id : 7935233142 Display Question Number : Yes Is Question
Mandatory : No

Which of the following are legal lines of Java code?
800 TS 2 &6 TE) QNG B A7
| mt w = (mt)888.8; 2. byte x = (byte)100L 3. long y = (byte)100; 4. byte z=
(byte)100L:



Options :

1.1and 2
1 8GN 2

2.2 and 3
2 6A 3

3.3and 4
3 06 4

4. All of the above
2 Q)

4.v

Question Number : 43 Question Id : 7935233143 Display Question Number : Yes Is Question
Mandatory : No

What will be the output of the following Java code?
806 237" §°6% T0E) @HENED Der &SoLNO?
class Average {
public static void mam(String args|])
J
L
double num[] = {7.5, 1.5, 10, 2.8, 67.9, 3.9};
double result;
result = 0:
for (int1=0; 1< 6; ++1)
result = result + num[1]:
System.out.println(result/6);
h
h

Options :

1.4



1. 15.600000000000001

2.15.6

- 3. 15. 600000000000000

4.15.60

Question Number : 44 Question Id : 7935233144 Display Question Number : Yes Is Question
Mandatory : No

What 1s the output of the below Java program
80 23°0° §'6 AN @HEDHE e GotNOD?
class Main {
public static void main(String args[]) {
try {
throw 10:
h
catch(int e) {
System.out.println("Got the Exception " + e);

h
h
h

Options:
. 1. Got the exception 10
1.

2. Got the exception 0
2. %



3. Compilation error
3.¢

. 4. Throws runtime error
4.

Question Number : 45 Question Id : 7935233145 Display Question Number : Yes Is Question
Mandatory : No

Which of these 1s an mcorrect Statement?
DEIS DO ) (HEEIS?
Options :

1. It 15 necessary to use new operator to initialize an array

363Q [002) 09 EE §'ed e3TEIBR GroIdir0TI0 9580

1.4
2. Array can be initialized using comma separated expressions surrounded by curly braces
A Ee05)08 DD 557 S Doharded Se8édmed
€500rA00 (3630 [FrS02)0uIae)
2. %
3. Array can be mitialized when they are declared
30 0830V YW BB (a7 B02D0TIdTN)
3. %
4. None of the mentioned
(DTDO0IDESD Do) B
4, %

Question Number : 46 Question Id : 7935233146 Display Question Number : Yes Is Question
Mandatory : No



What 15 the output of the below Java program with multiple methods?

25308 DSOS BN 2y (BT T3], 9:9ET)E daded?

public class MethodOverloading1
!

l
void show(int a, char b)
(

1
System.out.println("Hello World");
j

void show(char a, it b)
!

L
System.out.println("Hello Java"):

j

public static void mam(String[] args)

!

1

MethodOverloading]l m = new MethodOverloading]();
m.show(10, 'A");

m.show('B', 10);

j
j

Options :

1. Hello Java
. » HelloJava

2. Hello World

, Hello World
3. Hello World
3 v Hello Java

4. Compilation error
4. %



Question Number : 47 Question Id : 7935233147 Display Question Number : Yes Is Question
Mandatory : No

In java control statements break. continue, return, try-catch-fmally and assert belongs to?

27 50150 90T (355, $0edsrs, 665), | BT 55-0S56% D0
0'8) TG0 DS 020A0NE?

Options :

1. Selection statements

DO0DE (8IS
1. % )
2. Loop Statements
RSV REoSen
3. Transfer statements
- 26O DHEESED
4. Pause Statement
725 (HEES
4, % -

Question Number : 48 Question Id : 7935233148 Display Question Number : Yes Is Question
Mandatory : No

In case of multiple mheritance, a derived class mherits
25708 T8 50 DATHOE, €651 0 SEHE FBE0eS 507

Options :

1. Only the public member functions of its base classes

&) B T HT 025 DV A5 Had

1. %



2. Data members and member functions of any two base classes

DB DO B RN TET 2HSED aBO5N 2L DEIEN
2. %

3. Both public data members and member functions of all its base classes

)8 TeT HeHen sDOAN TR A TR T DO DEVEN

3.¢

4. Data members and member functions of any two base classes

DB DO 230 TR0 TEF 205N sDOOIN ZHSE DCEN

4. %

Question Number : 49 Question Id : 7935233149 Display Question Number : Yes Is Question
Mandatory : No

Which was an early mainframe computer?

1575085 53 DOV DD 055D DE?
Options :

1. ENIAC
1.4

2. UNIC

3. BRAINIA
3. %

4. FUNTRIA
4. %

Question Number : 50 Question Id : 7935233150 Display Question Number : Yes Is Question
Mandatory : No



Which 1s valid about java.lang. Exceptions?

Tavalang. S)IsFON0) HOOD) DE TTEV2FEN ©eYeh0E)?

Options :

| The class Exception and all its subclasses that are not also subclasses of Runtime Exception
are checked exceptions

0 oo 00 05 aNOTN G TIR) AP ON0R) B3NS}, DTN ) &)
HETRO ) DedFOEN

2. The class Error and all 1ts subclasses are unchecked exceptions

50 )| 00 DO ) ) AT INED S TN AT N0

3. The class RuntimeException and all its subclasses are unchecked exceptions

336D SSDDHNZAS DO T @y HETHeD S FoHe)

; MVNISEOWON OV
4. All the above
Lo B Do) S

Question Number : 51 Question Id : 7935233151 Display Question Number : Yes Is Question
Mandatory : No

FileInputStream mplements which mterface for closing file automatically i java7?

FilelnputStream &7 7 &5’ 395 ¢T38 825 TAHERE o) 20O DI
9660 WA

Options :

1. java.lang. AutoClose
1%

. 2. java.lang.Close Automatically
2.



3. java.lang. AutoCloseable
3.¢

4. java.lang.Closeable
4. %

Question Number : 52 Question Id : 7935233152 Display Question Number : Yes Is Question
Mandatory : No

Which of the followmg 1s true about pure virtual functions?

353 )0 2308 M 1000 806 TS N6 Nezo?

A. Ther mplementation 1s not provided m a class where they are declared.

A 63 eadhen )80t SEIRS ®ododadB.

B. If a class has a pure virtual function, then the class becomes abstract class and an
mstance of this class cannot be created.

B. 2,8 31138 2 6e)200) IO 08 G50, &8 edfied FErads ehHifed
©9:)eR08) aNOON &8 e 2.8 GaTTaT B R 0uICBEN

Options :
1. Both A and B
A DB B

2. Only A
A 575

3. Only B
B 23575

3.¢

4. Neither A and B
A OO B B0 5760

4. %



Question Number : 53 Question Id : 7935233153 Display Question Number : Yes Is Question
Mandatory : No

User perform following operations on stack of size 5 then —

5202 5 0230 0B 5E5EeTTORN DB SaFTED -

push(A):
pop():
push(B);
push(C);
pop():
push(D):
pop():
pop():
push(E);

pop():

pop():
push(F):

Which of the followmg is correct statement for stack?

806 e3¢5 '8 §%90 IBX 105 DE?

Options:

1. Stack Operations will be performed Smoothly
°5 39T D3I A £230) 20N

2. None of these

T3 S

3. Underflow Occurs

90T ) DS ICREBOE

3.¥



4. Overtlow Occurs

5,008 ) BB

Question Number : 54 Question Id : 7935233154 Display Question Number : Yes Is Question
Mandatory : No

The minimum number of stacks needed to implement a queue 1s
£
57503 €900 TWONETRE @9s50E S EAD HowseS FrSen

Options:

Question Number : 55 Question Id : 7935233155 Display Question Number : Yes Is Question
Mandatory : No

Which data structure 15 required to convert the mfix to prefix notation?
35 ) GG NOZFETNOM G )E0E &) TEF 0780 @330

Options:

1. Stack

RS

1.4



2. Linked list
08 TS )&

3. Bmary tree

256 €3
3., %
4. Queue
4. %

Question Number : 56 Question Id : 7935233156 Display Question Number : Yes Is Question
Mandatory : No

What 1s the outcome of the prefix expression +. -, *, 3, 2./, 8, 4. 5?
+,-,%,3,2,/,8,4, 56008 9558860 HOS0 dNe3?

Options:

Question Number : 57 Question Id : 7935233157 Display Question Number : Yes Is Question
Mandatory : No



Which of the following principle does Queue use?
OB o) Q750 §°§ EOTFADOR?
Options :

1. LIFO Principle
LIFO Q€50

1. %

2. FIFO Principle

FIFO Q0750
2. ¥
3. Linear Tree
OJONE 1¢3
3. %

4. Ordered array
SO0 DOS |33

Question Number : 58 Question Id : 7935233158 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s a true about Binary Trees?

808 7¢36S 2338 (€3¢0 HOOD) DA Jes0?

Options :
1. Every binary tree is either complete or full.

198 B8 163 3370 S HoyGo.

2. Every complete binary tree 1s also a full binary tree.

& 5370 BB (3 S D05y B 163

2. %



3. Every full binary tree 1s also a complete binary tree.

1963 D05y 2336 (€3 dcae =0 B3 (€8

3, %
4. None of the above
o o o T i
4. = ®

Question Number : 59 Question Id : 7935233159 Display Question Number : Yes Is Question
Mandatory : No

The maximum number of binary trees that can be formed with three unlabelled nodes 1s:

Sim¢ B TR SEOS )T 1109 B (¢ Moas:

Options :

Question Number : 60 Question Id : 7935233160 Display Question Number : Yes Is Question
Mandatory : No

Let G be a complete undirected graph on 6 vertices. If vertices of G are labeled, then the
number of distinct cycles of length 4 m G 15 equal to

6302 G 0T YO P SO 506, G TBg) ATe Band
ToDRGE, @60 G O e 4 B DD, WIS N0RS TR0
€005



Options :

Question Number : 61 Question Id : 7935233161 Display Question Number : Yes Is Question
Mandatory : No

The file access type supported by most modern operating systems are said to be

TP B8NS B0E300 YN NP t5ed) DO OFS IR G508 asnotrsy?

Options :
1. Sequential access file

AT LVANO OI8O

1. %

2. Random access file

ASTBYRDE ASFBID DO

2. ¢

3. Structural access file

QO™ e7°¢528 AR DO

4. Direct access files
@'6§ Q3 Qi‘) EJESQ

4. %



Question Number : 62 Question Id : 7935233162 Display Question Number : Yes Is Question
Mandatory : No

What do you mean by one to many relationships?

2,8¢3 0B 978 HODOTEN 90T DaDES?

Options :

1. One class may have many teachers

2,8 530338 T3P SN0 GOSN EOCIT,)

1. %
2. One teacher can have many classes
- 2,8 G50 @Y GO0 EOR G0
3. Many classes may have many teachers
. 298 e53(1e505) T DOE GOSN OCITV)
3.
4. Many teachers may have many classes
TETaN0A a0 B9RS 531eeaD SR &0
4, %

Question Number : 63 Question Id : 7935233163 Display Question Number : Yes Is Question
Mandatory : No
refers to the logical structuring of records.

96 05 @°0) & AT°XETR), TR0

Options :

1. Physical organization

25738 DO



2. Logical organization

=028 dow
2. %
3. Structural organization
QO™2e77¢58 DO
3. %
4. File organization
DO DO
4.+

Question Number : 64 Question Id : 7935233164 Display Question Number : Yes Is Question
Mandatory : No

The database environment has all the components except:

BEFZBR DTEIGEI0 DD @) 2D A &0b:

Options :

1. Users
DTN

1.4

2. Separate files

(DSB8 D
2. ®
3. Data base
Le BEX B

4. Database administrator

ZEIBR DT 50D

4, %



Question Number : 65 Question Id : 7935233165 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 15 not the advantage of database management system?

800 T3S BEFB DTS D0 DA TE) (NRFBH0 DO S

Options :

1. Centralized control

B0|O8 5 QAODHO(eHeD

2. High acquusition costs

29 E DTV e

3. Improved data integrity

- TS TBeE> Do 5eh
4. Shared data
L 230 ° S S T3

Question Number : 66 Question Id : 7935233166 Display Question Number : Yes Is Question
Mandatory : No

In the three-tier architecture, the mtermediate layer between database and client servers is
classified as

S0 @030 A07R08, BEFBR B0 Sowod 8 56 s
2068)809E 8 000 AR O Ak T SOE80SE0E?

Options :



1. Functional server

) D0E IO JB 56
1.
2. Transaction server
6 D& 85
2. %
3. Application server
€980 & O
3.¢
4. Disk server
GOy DG 55
4, %

Question Number : 67 Question Id : 7935233167 Display Question Number : Yes Is Question
Mandatory : No

Application resides at the client machine and mvokes database system functionality at the
server machine through query statement, 1s the type known as

B SON0E) ol 9 A0 sOAN TEIB R A ST
R0 DENAOE (28 [EN T30 G50 A, B R G507

Options :

1. One-tier architecture

N-BO 38, TEHY6

2. Two-tier architecture

DOLD 0T AT°LEI0
2.

3. Three-tier architecture
SDI°CD OO NT20



4. No-tier architecture
S-B5 e38), )5

4, ®

Question Number : 68 Question Id : 7935233168 Display Question Number : Yes Is Question
Mandatory : No

Which of the following database activities allow for the actual retrieval and use of a
database?

806 ) BEFB SUSETIEN T )IDREED OO G0 §0
9DV ON?

Options :

1. Enterprise modeling

DO B2 Boecd@oh

2. Logical database design

72280 TErB D BB

2. ¢

3. Physical database design and definition

25738 T363723 B Ee> )a) BN A 2300

4. Database implementation
TEFR 90D

Question Number : 69 Question Id : 7935233169 Display Question Number : Yes Is Question
Mandatory : No



- Which 1s not a type data management technology?

& 1800 S BN BEX Do 08 B5) 02 0O 7
Options :

1. Relational
QODORID

1. %

2. Rational
BN I

2. &

3. Object-oriented
e3235-2,000T0%

4. Dimensional
EISVNNG)

4, %

Question Number : 70 Question Id : 7935233170 Display Question Number : Yes Is Question
Mandatory : No

The furst step in database development is which of the following?

800 73S BETBD ©98)S5yOS INAE D DE?

Options:

1. Enterprise data modeling

DOED| RS T@EF Jcdon

1.¢

2. Logical database design
er2E0 BErB R BB

2. %



3. Physical database design and definition
237038 TBEr23 0 GrEed 1) sDOA A 52980

4. Database mmplementation

362300 €900
4. %

Question Number : 71 Question Id : 7935233171 Display Question Number : Yes Is Question
Mandatory : No

A relationship 1s which of the following?

502200 DIE 8o ¢3S dES?

Options :
1. A person, place or thing

2,8 5958, 00 B3® HeWY)

2. Property or characteristic of an entity
2.8 380 B> 8 £20

3. Link between entities

Doe3e3e> s Aos

3.¢

4. Weak entity
20N QO

4. %

Question Number : 72 Question Id : 7935233172 Display Question Number : Yes Is Question
Mandatory : No



An 15 a set of entities of the same type that share the same properties, or attributes.

©20 2,8 G (070 B O 0D D0 28 S8R
ot o0,

Options :

1. Entity set
DOE3ES ES

1.4

2. Attribute set
DO VE

3. Relation set

HEAN VO

4. Entity model
D0e3e3 TS

4. %

Question Number : 73 Question Id : 7935233173 Display Question Number : Yes Is Question
Mandatory : No

An attribute which consists of a group of attributes is called ?

DET) Do) O &) 8 7)) 90Er$?

Options:

1. Composite attributes

o[ ET*eN

2. Multi-valued attributes

L DIVF-DENIS 8 g7een



3. Composite identifiers

RN G e lxlel AR IOV eIDN
3.
4. Identifiers
DB oYT e
4, %

Question Number : 74 Question Id : 7935233174 Display Question Number : Yes Is Question
Mandatory : No

A supertype/subtype hierarchy 1s which of the following?
808 a°e36S K08 BD/DFD AFSEe0 E?

Options :
1. Each subtype has only one attribute
103 €50 358 2,8 @8 £20 OO

1. %

2. Each supertype has only one attribute
198 QIO BN 2,8 ©F €20 (55D GOLNOE

2. %

3. Each subtype has only one supertype
1963 &5 $5°08 2,8 D BIR LA G0N0

3.¢¥

4. Each supertype has only one subtype

Lo DB ATHE DS 2.8 &3 3%0 S &0enod

Question Number : 75 Question Id : 7935233175 Display Question Number : Yes Is Question
Mandatory : No



A attribute need not be physically stored within the database

2,8 & £90 2T BEOT TErBDS D) 2 DOHEE

Options :

1. Single valued
00O Frexesée

1. %

2. Derived
A )0) O

2. &

3. Multi-valued
2230 DeED EODBIE

4. Composite

RN IS

4, ®

Question Number : 76 Question Id : 7935233176 Display Question Number : Yes Is Question
Mandatory : No

In relational model terminology the table 1s considered as

BBASO IrdO H82rae Taend T HBKI0dSI00?
Options :

1. Range
16 200

2. Domain

S35

2. %

3. Relation

SlerhlelnTe
3. v



4. Tuple

' ED)O

Question Number : 77 Question Id : 7935233177 Display Question Number : Yes Is Question
Mandatory : No

To mclude integrity constramt in an existing relation use:

3963 &) 90208 AATWFHOS | HONB TE)TRE:

Options :
1. Create table
DEIE HyR

2. Modify table
HEE BB

2. %

3. Alter table
HEIE 5370

3.v¥

4. Drop table
1T B2

4. %

Question Number : 78 Question Id : 7935233178 Display Question Number : Yes Is Question
Mandatory : No

In ER diagrams. dashed ellipses are used to denote-
ER Br@o, A AJXy&en rr)otd @8 S
G OBrATA?



Options :

1. Denived attributes

€565 39) D ©F e
1. e =
2. Multivalued attributes
NPEEEAPONEWEA RSN Y
3. Weak entity sets
L DOETID J0e3eS EY
4. Relationship set
. BBAS 2D S

Question Number : 79 Question Id : 7935233179 Display Question Number : Yes Is Question
Mandatory : No

4NF 1s designed to cope with:
ANF 3R )0, S0CNE ErsroO0IdGB06:
Options :
1. Transitive dependency

D038 es2B0

1. %

2. Join dependency

08 e83%0

3. Multivalued dependency

22530 N GO
3. ¢

4. %



4. None of these
0 50

Question Number : 80 Question Id : 7935233180 Display Question Number : Yes Is Question
Mandatory : No

A is a pictorial depiction of the schema of a database that shows the relations m
the database, their attributes, and primary keys and foreign keys.

2,8 O TEFB T0E) e TN TS W|ehed, 20
BErR S0 020G, 63 ere, (s §o ook
AT e im0

Options :

1. Schema diagram

L Q230° DY €50

2. Relational algebra
D006 6% 2)2303¢50

3. Database diagram

BB DY) €50

3. %

4. Schema flow
3¢50 BP(50

Question Number : 81 Question Id : 7935233181 Display Question Number : Yes Is Question
Mandatory : No



Assume a relation R(A, B, C, D) with set of functional dependencies F= { C —D,C — A,
B — C}. Which of the following 1s the candidate keys of R?

F={C—-D,C—~4 B—Cl0O &0BN0 ES 02080
R(4,B,C, D) S0, 806 art36 R 92550 S 2

Options :
1. ® ].. C

- 2. B0

3.B

4. Both (b) and (¢)
4. %

Question Number : 82 Question Id : 7935233182 Display Question Number : Yes Is Question
Mandatory : No

Relation R has eight attributes ABCDEFGH. Fields of R contam only atomic values. F =
{CH->G,A->BC,B->CFH,E-> A, F-> EG} 15 a set of functional dependencies (FDs)
s0 that F+ 15 exactly the set of FDs that hold for R. How many candidate keys does the
relation R have?

020830 R & DO ©F e &%) 00 ABCDEFGH. R 900 $)8aire
DOION T $ON &0erow. F= {CH->G,A->BC,B->CFH,E->A,F >
EG) @936 008 56 GR0BR0 (FD &) b, S F+ &6 2060 R
§'90 603 FD © 6 85 020506 ) €9530 e Gy o

Options :

1. %

1o
I

2.¥



Question Number : 83 Question Id : 7935233183 Display Question Number : Yes Is Question
Mandatory : No

If a denormalization sttuation exists with a many-to-many or associative binary relationship,
which of the followng 15 true?

9006978 B 80208 B 9020308 GSEIBFAS 20
0%, 800 TS’ A6 A0

Options :
1. All fields are stored in one relation.
&
Q) HOeN 2,& H00H0S e ¢ TohaG%E Q.

1, %
2. All fields are stored in two relations.
29Q) HOED BOK NODOTOES Aed§ TAHBTOW.
2.
3. All fields are stored in three relations.
L. ©0) HOEN I NDOROTOES e £ AN BTOW.
4. All fields are stored in four relations.
Lx ©) S0 TN H0OTOE ) £ TORIEETOW.

Question Number : 84 Question Id : 7935233184 Display Question Number : Yes Is Question
Mandatory : No



Designing physical files requires of where and when data are used m various
ways.

T Y Erie )% A0 SPTE T .8 500K A
EPA0RR0E 895380,
Options :
I. Maps
1. % 5&5“;3'?33

2. Descriptions

- DaaGae)
3. Keys
gey
3. %
4. Hints
ATPTLIOC)
4, %

Question Number : 85 Question Id : 7935233185 Display Question Number : Yes Is Question
Mandatory : No

When creatmg a database, m order to optimize performance, put high- usage tables m their
Own

XN IR0TR0, HABED SRS TAOFIE, 96 AN
HE3E0% T3 ) 0 HBOS BoEN0E?
Options :

1. Data caches
3EI° 57O



2. Data paces
T "N

-

3. Table caches
BI2NO T

4. Table spaces

TI2NO Q) O
4.9

Question Number : 86 Question Id : 7935233186 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s true concerning a procedure?
806 37¢36S (DBOHE HOOE0D) DE Des0?
Options:

1. You do not create them with SQL.

B 3730 SQL & DR 0TI&.

2. They do not need to have a unique name.

J°08 (DB5ETN DD GOTTE) ) @50 SED.

3. They include procedural and SQL statements.
36 (0235 DO SQL WET0EI N EOEFON.

3.¥

4. They are the same thing as a function
293) 2,8 DOE.S N &GOLITON



Question Number : 87 Question Id : 7935233187 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements 1s true concerning routines and triggers?
806 [HEOSOS DO AedsEyzrien HOAM (31505 020607 Ne0?
Options :

1. Both consist of procedural code.

BOCH® DFINE §EQ EOR 030w,

1.¢
2. Both have to be called to operate.
SV DANEE DO D).
2. %
3. Both run automatically.
DO D 5000TOE0TT HEDAPOW.
3. %
4. Both are stored in the database.
BOKT BEFrBRS Jed ¢ DO 0.
4, %

Question Number : 88 Question Id : 7935233188 Display Question Number : Yes Is Question
Mandatory : No

Ensuring the atomicity and durability properties s the responsibility of the
96065 0 oNOAM oD E OF £ AT DOTIRO T 2T 5eh?
Options :

I. Recovery Manager

HESHO D2

1.¢



2. Buffer Manager
2D0 RO

3. Transaction manager

SIINEAI DTV OMPO RN
3. %
4. File Manager
=S 2326
4, %

Question Number : 89 Question Id : 7935233189 Display Question Number : Yes Is Question
Mandatory : No

Dynamic SQL Statements m SQL Server can be easily built using
SQL 8,56 BbS SQL DER0SD EHarA0L)
OO ABI0TITN)

Options :

1. Cursor

S{ehle

2. Stored procedure

. A § TONDED DGO
3. Function
. HOES

4.  All of the mentioned
DT Q)



Question Number : 90 Question Id : 7935233190 Display Question Number : Yes Is Question
Mandatory : No

When SQL statements are embedded inside 3GL, we call such a program as?

36L 6590 SQL DER0TOD 0B, ©eroed | rad
NoNOEFS?

Options :

1. nested query
Qo 03 )

2. nested programming

(15°CR) | 0N

2.

3. distinct query

DY (%)
3. %
4. embedded SQL
. 00230363 SQL
4.

Question Number : 91 Question Id : 7935233191 Display Question Number : Yes Is Question
Mandatory : No

Which of the following items are not necessary for client/server?
806 e3¢5 $o006/98 £86 £H0 o) 907N 959380 S?

Options :

1. Assure that tools will connect with muddleware.

EN"O ) WEO IO EITT @5)e00A O%ad



2. Understand the requirements.

@30T @P0 BT IB0

2.

3. Determine network bandwidth capabilities.

3 % S0 250RNR TPNT"EOD AQONOTIRO

4. Include the use of a file server.

O AE 50 DAY WS )CBO.

Question Number : 92 Question Id : 7935233192 Display Question Number : Yes Is Question
Mandatory : No
A characteristic of a file server 1s which of the following?

2O 3855 ABEY &0 80 73S DE?
Options :
1. Manages file operations and 1s shared on a network.
2O 58 s8eraTrocd) BTN HO0N 35563
2 £a050 OB,

1.4

2. Manages file operations and 1s limited to one PC.
20O 5E58e70N AO5oTD0E DOAM 2,8 PC § 20050
BODVBOO.

3. Acts as a fat client and 1s shared on a network.
7565 S0ON0ET DTN HOAN TE556S 06
DODCDEN0H.



4. Acts as a fat client and 1s limited to one PC.

21565 SONOET DT DO 2,8 PC § HBeHO
NOWLNRIOIA)

Question Number : 93 Question Id : 7935233193 Display Question Number : Yes Is Question
Mandatory : No

Stored procedures have which of the following advantages?

Do) TOHGS DFTED 808 (HNTFETS IO EOR ) om?

Options:

I. It takes a longer time to write them as compared to writing Visual Basic.

DO BAG TroN0S O 3R TAHERE D80 NNORO
CDN0A.

2. Network traffic mncreases

Lk SO0 (E7DE DBADSO

3. Data mtegrity improves as multiple applications access the same stored
procedure.

26305 @50 2,3 TR 0 )0 TAHoS Ter e fied i
DR AT

3.¢

4. Result in thicker client and thinner database server.

S00GD0 §000ET sHBAN YT E0T BEFER N8 66"
4 % DES0.

Question Number : 94 Question Id : 7935233194 Display Question Number : Yes Is Question
Mandatory : No



An application program interface (API) 1s which of the following?

ONTAS (T YOG R (API) 80O ¢3S E?
Options :

1. The same thing as ODBC.
ODBC 5 &% DA0NO0.

2. Middleware that does not provide access to a database.

B¢ OB IR ORI GO RO.

3. Middleware that provides access to a database.

T3EI230 058 )0 @O0O0T DO H0D.

3.¢

4. The same thing as JDBC.
JDBC 583 €975 QAODNO.

Question Number : 95 Question Id : 7935233195 Display Question Number : Yes Is Question
Mandatory : No

A benefit of three tier architecture 1s which of the following?

13 BB €38, Ba%)5 TBody, (T30 808 ¢3S’ E?

Options :

1. New modules can be built to support specific busimess needs
QO TS TR DDA §'¢d S3Cars® )
0 0tIITN)

1.4

2. Performance improves for compiled SQL statements

4029 SQL D065 30 HABE DAHHEERN0E



3. Results mn a thinner client and database server

551 o0 LB TBEFBR DB 665 HOen

4. All of the above.
s

Question Number : 96 Question Id : 7935233196 Display Question Number : Yes Is Question
Mandatory : No

Backward recovery 1s which of the following

20O ¢3S DL BS BESE

Options :

1. Where the before-images are applied to the database
ADANNES DEeN TEFBO HO0NBON e N

1.4

2. Where the after-images are applied to the database

0”565 W|EFeD TEr23 05 SO0 oW

3. Where the after-images and before-images are applied to the database

ST b LEEN sDOON DO W(ETEN BEFBDE
NoleINTATA Tz oW

4. Switching to an existing copy of the database

BT B0EY, (DS 508 S50



Question Number : 97 Question Id : 7935233197 Display Question Number : Yes Is Question
Mandatory : No

The transaction log includes which of the following?

>0 €0 80O 3°¢3S° B A S 0eN0E?

Options :

1. The before-image of a record

B350 ABNEY DOLD D50
1. %
2. The after-image of a record
B3 T e (5O
2. %
3. The before and after-image of a record
B30 WO SN 5T°ed (5O
3. %
4. The essential data of the record
B30 WBE) SIS ey
4.

Question Number : 98 Question Id : 7935233198 Display Question Number : Yes Is Question
Mandatory : No

Performance analysis and tuning 1s which of the following?

HASBE DAL OGN €= AOR 8od ¢3S DE?



Options :

1. Undertaken one time at the time of a DBMS mstallation

DBMS 2037 SnS Oe0aN0S 2,8 8 TIETE

2. Undertaken one time at the time of the implementation of a new application

£ @91 €900 N0 2.€ B TIPS

2. %

3. Undertaken as an ongoing part of the backup of a database

BerBR ersEDeS SFSren) erfom HofS0tiae0s

3. %

4. Undertaken as an ongoing part of managing a database

BerBR B 5T ESareS) arlom BItDG06

4.

Question Number : 99 Question Id : 7935233199 Display Question Number : Yes Is Question
Mandatory : No

A data warehouse administrator 1s concerned with which of the following?

Ber 30572 AT 180 806 a3 BRI H020H0DSE?

Options:

. The time to make a decision but not the typical roles of a database admunistrator
DG0H0 ST D00 T FEFBR AT TEG PTG FSHeN
SHAN

2.¥



2. The time to make a decision and the typical roles of a database administrator

DG0H0 BDHT HHAN0 OO BEFBR AT T 08
TSSO

3. The typical roles of a data admumistrator and redesigning existing applications
G 0] D60 Tg), NS e JSden B0 38 &)
S5O OBFN DO

4. The typical roles of a database admmistrator and redesigning existing applications
GEFZR @) W60 g OB arBen SO 3)E33
) BaSaN) OGEN BAHtho

Question Number : 100 Question Id : 7935233200 Display Question Number : Yes Is Question
Mandatory : No

A data dictionary 1s a repository that manages

GBEF ADOLN) OO B NG 5570 2.8 HEF2eD?
Options :

1. Memory

00
1. %
2. Metadata
SEFTICT
2. ¥

3. Data Validation
DRSO | e3 8B



4.

®

4. Spell Checker
O 86



